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Zoophytology — Study of plant-like animals
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Thanatology — Study of death and its customs
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Thaumatology — Study of miracles
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Theology — Study of religion; religious doctrine
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Theriatrics — Veterinary medicine
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Theriogenology — Study of animals’ reproductive systems
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WBCS (Main) Exam Paper — VI Practice Set

16.

10.

On dividing a certain number by 342 we get 47 as |

remainder. If the same number is divided by 18,
what will be the remainder ?

(a) 15 (b) 11 (c) 17 (d) 13

A number exceeds its one-fifth by 20. The number
is

(a) 100 (b) 25

() 20 d) 5

1
If 5 isadded to a number and the sum is multiplied

by 3, the result is 21. Then the number is:

(@ 6.5 (b) 5.5 (c) 45 (d)-6.5
The smallest number, which when divided by 12
and 16 leaves remainder 5 and 9 respectively, is:
(@ 55 (b) 41 (c) 39 (d) 29

What is the smallest number which leaves |

remainder 3 when divided by any of the numbers
5, 6 or 8 but leaves no remainder when it is divided

by 9?
@123 (b)603 () 723  (d) 243
HCFof 2, 2 and &
.LC.FO 31 5 an 7 |
B2 1 a2
@75 ®is ©@15 @35
1 1 1 1 1 1
—t—t—F+—+—+—="7
30 42 56 72 90 110
2 1 5 6
2.< - =~ =
@2 B; ©5 @5
Simplify :
! 11
2 E(E 3) 2"3
. 1 7l5710) 7 11
2 3
2 1 3 3
a) — b) 37= c) — d) 18—
@ 3 (b) > (0) > (d) 5
[0.00001225 . _
————"" jsequato:
0.00005329
2 b =2 3 g 2
@7 Oz @7 OF

Nine students of a class contribute a certain sum
of money. Seven of them gave Rs. 50 each and the
other two gave respectively Rs. 50 and Rs. 90 more

11

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

than the others. The average contribution of the
class of 9 students is:

(@ Rs. 70 (b) Rs. 50 (c) Rs. 100 (d) Rs. 120
The average of two numbers is 8 and the average
of other three numbers is 3. The average of the
five numbersis:

@ 2 (b) 3 (¢) 5 (d) 6

The average monthly income of X and'Y is¥5050.
The average monthly income of Y and Z is¥6250
and the average monthly income of X and Z is
5200. The monthly income of X is:

(8) 4050 (b) ¥3500 (c) 34000 (d)I5000
If two-third of A isfour-fifth of B, thenA: B ="?
@5:6 (b)6:5 (©0)10:9 (d)9:10

If 550f a=0.650f b, thena: bisequal to:

(@ 13:11 (b)11:13 (c) 13:110 (d)110: 13

1
Find the fraction which bears the sameratio to >7

3
that 7 does to

9

5 1 45 7
@ 9 Oz ©=F @4
When 60 is subtracted from 60% of a number, the
result is 60. The number is:
(a) 120 (b) 150 (c) 180 (d) 200

4 3
If 40% of gof 2 of anumber is 48, then what is

1% of the same number ?

(@ 20 (b) 2 (c) 10 (d)1

A man spends 40% of his monthly salary on food
and one-third of the remaining on transport. If he
saves ¥ 4,500 per month, which is equal to half the
balance after spending on food and transport, his
monthly salary is

(8 11,250 (b) ¥22,500 (c) 25,000 (d) T 45,000
The selling price of 5 articles is the same as the
cost price of 3 articles. The gain or loss percent is:
(a) 20% gain (b) 25% gain

(c) 33.33% loss (d) 40% loss

The cost price of a book is ¥150. At what price
should it be sold to gain 20% ?

@®3%120 (b)T180 (c)I100 (d)T80
Mohan bought 25 books for ¥ 2,000 and sold them
at a profit equal to the selling price of 5 books. The
selling price of 1 book is
@100 (b)T120

(€) T150  (d) T200

Thermodynamics — Study of relation of heat to motion




23.

24.

25.

26.

27.

28.

29.

30.

31.

T - 5, P - K (T, 03D

o

The single discount, which is equivalent to |
successive discounts of 25% and10 %, is: |
(@ 35% (b) 345% (c) 33%  (d) 325% |
Which of the following successive discounts is |
better to a customer? |
(a) 20%, 15%, 10% or |
(b) 25%, 12%, 8% ? |
(@) (a) is better |
(b) (b) is better |
(c) (a) or (b) (both are same) |
(d) None of these |
The marked price is 20% higher than cost price. A |
discount of 20% is given on the marked price. By |
this type of sae, thereis |
(a) 4% loss (b) 2% loss |
(c) no loss no gain (d) 4% gain |
Manoj deposited ¥29400 for 6 years at a simple |
interest. He got 4200 as interest after 6 years. |
The annual rate of interest was |

I

I

I

I

I

8
(d) 45;%

The principa WhICh gives 1 interest per day at a
rate of 5% simple interest per annum is

(8 T5000 (b) 7300 (c) T36500 (d) ¥T3650
The simple interest on a sum for 5 years is one
fourth of the sum. The rate of interest per annum |
is

@ 5% (b)6%  (c) 4% (d) 8% I
The compound interest on 5,000 for 3 years at |
10% p. a. will amount to |
(a) T1,654 (b) T1,655 (c) 1,600 (d)T1,565 |
If the compound interest on a sum for 2 years at |

@ 25% () 255% (0) 3%

12%% per annum is ¥ 510, the simple interest on I

the same sum at the same rate for the same period I
of timeis: |
(@ %400 (b)T480 (c)I450 (d) 460 |
The difference between compound interest and

simple interest on ¥2500 for 2 years at 4% per |
annumis
(8 %40

16 men are able to complete a piece of work in 12

I

(b) Z45 :
days working 14 hours a day. How long will 28 |
I

I

I

(314 (d)%4

men, working 12 hours a day, take to complete the
work ?
(a) 10 days (b) 7 days (c) 8 days (d) 6 days

32.

33.

34.

35.

36.

37.

38.

A and B together can do a piece of work in 6 days
and A alone can do it in 9 days. The number of
days B will taketo do it aloneis

(a) 18 days (b) 24 days

(c) 9 days (d) 12 days

A man and a boy can complete a work together in
24 days. If for the last six days man alone does the
work then it is completed in 26 days. How long the
boy will take to complete the work alone ?

(a) 72 days (b) 20 days

(c) 24 days (d) 36 days

A water tank can be filled by atap in 30 minutes
and another tap can fill it in 60 minutes. If both the
taps are kept open for 5 minutes and then the first
tap is closed, how long will it take for the tank to
befull ?

(a) 20 minutes
(c) 30 minutes

(b) 25 minutes
(d) 45 minutes

If l;’th of acistern is filled in 1 minute, the time

needed to fill therest is

(@) 40 sec (b) 30 sec (c) 36 sec (d) 24 sec
A pipe can empty a tank in 40 minutes. A second
pipe with diameter twice as much as that of the
first is also attached with the tank to empty it. The
two together can empty the tank in:

(a) 8 minutes (b) 13% minutes

(c) 30 minutes (d) 38 minutes

A train coversacertain distancein 210 minutes at a
speed of 60 kmph. The time taken by the train, to
cover the same distance at a speed of 80 kmph is:

5 5
@ 35 hours (b) 2§ hours

5
() 4§ hours (d) 3 hours

A car travels at a speed of 60 km/hr and covers a
particular distance in one hour. How long will it
take for another car to cover the same distance at
40 km/hr ?

hours

5
@

5 (b) 2 hours
3
2

hours

(© (d) 1 hour

Thermokinematics — Study of motion of heat
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39. A train of length 500 feet crosses a platform of | 3 2
length 700 feet in 10 seconds. The speed of the | ,q Simplify : 2:/3 2-3
trainis | - 2——5\/§
(a) 70 ft/second (b) 85 ft/second |
(c) 100 ft/second (d) 120 ft/second |
40. A man can row 15km/ hr downstream and 9 km/hr | @ 1 53 (b) 2— 5.3
upstream. The speed of the boat in still water is 2
(@ 8 km/hr. (b) 10 km/hr. (01 (d)o
(c) 15 kmvhr. (d) 12 km/hr.

2.75x2.75x2.75-2.25x2.25x2.25 ) .
41. A boat moves downstream at the rate of 1 km in

j isequal to:
2.75x2.75+2.75x 2.25+ 2.25x 2.25
@-5 (b) 0.5 ()-05 (d)5
Directions(51-54) : In each of thefollowing questions,
select the related word from the given alternatives.

7% minutes and upstream at the rate of 5 km an

I
I
I
I
I
I
hour. What isthe speed of the boat in the still water? |
I
I
I
I

@ 3% km/hour (b) 6% km/hour 51. Magazine: Editor : : Drama: ?
(a) Principa (b) Actress
(c) 4 km/hour (d) 8 km/hour (©) Scenario (d) Director

42. A man can row at a speed of 41 km/hr in still | 52. Foot: Man:: Hoof : ?
2 (a) Dog (b) Cow  (c) Cat (d) Rabbit
Drop: Ocean: : Star: ?
(a) Sky (b) Shine  (c) Twinkle (d) Bright
54. Hospital : Doctor : : Temple: ?
(a) Magistrate (b) Manager
(c) Priest (d) Temple Artist

water. If he takes 2 times as long to row a distance | 53

upstream as to row the same distance downstream, | =

then, the speed of stream (in km/hr) is

(a1 (b) 1.5 (©) 2 (d) 25 I
43. Theareaof two equilateral trianglesarein theratio |

25 : 36. Their altitudes will bein the ratio : I
) ) ) _ | Directions(55-57) : In each of thefollowing questions,
(@36:25 (1)25:36 (95:6 (d) 5:V6 | select the related number from the given alternatives.
44. The measures (in cm) of sides of a right angled | 55. 21:3::574:7?

tIiangIe are given by consecutive integers. Its area | (@) 23 (b) 82 (c) 97 (d) 113
(incm?) is | 56. 7:42::9: 2
@9 (b) 8 © 5 (d) 6 | @64 ()72 ()46 (d) 80

45. Sides of a parallelogram areintheratio5: 4. 1ts | 57 57-.3-:873:2
areais 1000 sg. units. Altitude on the greater sideis | (@) 23 (b) 97 (©) 9 (d) 87
20 units. Altitude on the smaller sideis . - ,
(a) 30 units (b) 25 units Directions (58-59) : Read thefollowing information

carefully and answer the questions based onit :
There is a family of six personsP, Q, R, S, T and
U. They are Lawyer, Doctor, Teacher, Salesman,
Engineer and Manager. There are two married
couplesin thefamily. S, the Salesman is married to
the Lady Teacher. The Doctor is married to the
Lawyer. U, the Manager, isthe son of Q and brother

I
(c) 10 units (d) 15 units :

46. Theareaof atriangleis216 cm? and itssidesarein |
theratio 3: 4 : 5. The perimeter of the triangle is: |
@6cm (b)l12cm (c)36cm (d) 72 cm |

47. A circular wire of radius 42 cm is bent in the form
of arectangle whose sides are in the ratio of 6 : 5. l

The smaller side of therectangleis [Taken = %j I of T. R, the Lawyer, is the daughter-in-law of P. T
7 isthe unmarried Engineer. P is the grandmother of
(@60cm (b)30cm (c)25cm (d)36cm | u.
48. The percentage increase in the area of arectangle, | 58. Which of the following is one of the married
if each of its sides isincreased by 20% isequal to | couples?
(@ 32% (b)34% (c) 42% (d) 44% | @TandR()PandS (c) Sand Q (d) T and P

Thermology — Study of heat
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What is the profession of P ? |
(@) Lawyer (b) Engineer |
(c) Doctor (d) Teacher |

I

Introducing a man, a woman said, “His wife is the
only daughter of my mother.” How is the woman
related with the man?
(a) Sister-in-law (b) Wife

Directions (61-63) : In the following question you

have to identify the correct response from the given
premises stated according to following symbols :

61.

62.

63.

I
I
(c) Aunt (d) Mother-in-law :
I
I

If 4+’ stands for "x’, ‘=* for ‘=” ‘x” for ‘=" and ‘=’ I
for ‘+’, then find the value of the following equation I
26+74-4x5+2=7 I
(@220 (b)376 (c)478  (d)488 |
If — stands for addition, + for multiplication, x for I
substraction, and + for division, then which of the |
following is correct?

(@ 25-15+5+4x16=21
(b)25+11-4+10x6=20
(c)25x12-14+-4+6=16
(d)25-12+14+2x4=15

If x means +, + means <+, — means x and =+ means
(11 (b) 15 (c) 10 (d) 12

Directions (64-66) : In each of the following

questions, find the odd number pair from the given

|
|
|
|
|
— then6x4-5+2+1=7? I
|
|
|
|
|
|

alternatives.

64. (a) 19-38 (b) 21-40 (c) 23-46 (d) 16 — 32
65. (a) 91 (b) 84 (c) 26 (d) 78

66. (a) 96 (b) 59 (c) 12 (d) 48

67. Findtheodd number pair from the given alternatives. I

68.

69.

70.

(@43-6 (b)28-4 (c)50-7 (d)36-5
After walking 10 m, Shankar turned left and covered |
adistance of 6 m, then turned right and covered a |
distance of 20 m. In the end, he was moving |
towards the south. From which direction did |
Shankar start his journey ?

(@ West  (b) North  (c) South  (d) East
Ramesh walks 2 km to west and turns to his right
and walks 3 km and turns right and walks 2 km

and finally turnsto his right. Which direction is he I
facing? I
(a) East (b) West  (c) North  (d) South

Mohan travelled westward 5 kms., turned left and I
travelled 3 kms., turned right and travelled 9 kms. I
He then travelled north 3 kms. How far heis from
the starting point ?

(@ 5 kms. (b) 3 kms. (c) 6 kms. (d) 14 kms. I

71.

72.

73.

74,

Pran and Khan start from their office and walk in
oppositedirection, each travelling 10 km. Pran then
turnsleft and walks 10 km. While Khan turns right
and walks 10 km. How far they are now from each
other?

@O0km (b)5km (c) 10 km (d) 20 km
If two days after day after tomorrow is Sunday,
what day was the day before yesterday?

(a) Wednesday (b) Tuesday

(c) Monday (d) Sunday

If three days before yesterday wasWednesday, what
will be two days after tomorrow?

(a) Wednesday (b) Monday

(c) Friday (d) Tuesday

If John celebrated his victory day on Tuesday, 5th
January 1965, whenwill he celebrate hisnext victory
day on the same day ?

(@) 5th January 1970  (b) 5th January 1971

(c) 5th January 1973  (d) 5th January 1974
Directions (75-78) : In each of the following

guestions, a seriesisgiven, with onetermmissing. Choose
the correct alternative from the given ones that will
complete the series.

75.

76.

77.

78.

138, 161, 185, 210, ?

(@240 (b)236 () 272  (d)229
2, 6, 12, 20, 30, 42, ?

@52  (b)56 (c) 60 (d) 69
3,5,6 11, 9, 17, 12, ?

@20  (b)10 () 22 (d) 23
2160, 432, 108,?

@18  (b) 36 (c) 32 (d) 54

Directions (79-80) : In the following questions,

letters are given in the first line and numbers are given
in the second line. Number s are the codes for lettersand
|ettersare codesfor the numbers. Choose the correct code
as your answer from amongst the suggested answers a,
b, c and d.

| 79.

80.

PINIA|J|IR|VIE|S|T|M
5({7(3(4/6|1]2|8|9|0

MPRATJ
(a) 056394 (b) 056934

(c) 053694 (d) 056794
921547

(8) TEVIPN (b) TEVPIN

(c) TEVNIP (d) TEVPRN

If W = 23, WIN = 46, then WAY =?

(a) 46 (b) 64 (c) 49 (d) 94

Therology — Study of wild mammals
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Directions (82-83) : In each of the following | 87. Statements :

questions, from the given alternative words, select the |
word which cannot be formed using the letters of the |

given word.
82. PROVINCIALISM
(@) SAILOR (b) NAIL
(c) MAN (d) INITIAL
83. DEPARTMENT
(8 ENTER (b) PARENT
(c) TEMPER (d) PARADE

84. From the given alternatives, select the word which
cannot be formed using the letters of the given

word.

ROTARYBLUES

(a) STARY (b) LOTUS
(c) TABLET (d) BUTLER

Direction : In the following questions one/two
statements are given followed by two conclusions | and
I1. You have to consider the two statements to be true
evenif they seemto be at variance from commonly known
facts. You have to decide which of the given conclusions,
if any, follow from the given statements.

85. Statements :

Some phones are watches.

All watches are guns.

Conclusions :

I. All guns guns are watches.

I1. Some guns ar Phones.

(a) Only I follows

(b) Only II follows

(c) Either | or 1l follows

(d) Neither | nor Il follows

Directions (86-87) : In each of the following
guestions one /two statements are given followed by two
conclusions (1) and (I1). You have to consider the two
statements to be true even if they seemto be at variance
from commonly known facts. You have to decide which
of the given conclusions, if any, follow from the given
statements.

86. Statements :

Some books are Magazines.

Some Magazines are Novels.

Conclusions :

(I) Some books are Novels.

(I1) Some Novels are Magazines.

(@) Only (I) follows

(b) Only (I1) follows

(c) Either (1) or (I1) follows

I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
|
(d) Neither (1) nor (11) follows |

88.

(@) All students like excursions.

(b) Some students like Laboratory experiments.

Conclusions :

(1) Studentswho like Laboratory experiments also
like excursions.

(I1YSome students do not like Laboratory
experiments but likes excursion.

(@) Only (I) follows

(b) Only (I1) follows

(c) Conclusions (I) and (1) follow

(d) Neither (1) nor (1) follows

A, B, C, D and E are sitting on a bench. A is sitting

next to B, C is sitting next to D, D is not sitting

with E who is on the left end of the bench. Cison

the second position from the right. A is on theright

of B and E. A and C are sitting together. In which

position isA sitting ?

(@) BetweenBand D  (b) Between B and C

(c) BetweenEand D  (d) Between C and E

Directions (89-90) : Seven boys A, B, C, D, E, F

and G are stand in a straight line as follows :

89.

90.

(i) Cis standing between A and G.

(i) B is standing to the left of E.

(iii) G is standing between C and E.
(iv) D and F are to the right of C.
Who is standing exactly in the middle?

@C (b) A (¢ E (d) D
Who is standing to the extreme left ?
(@ F (b) C (B (d E

Directions (91-95) : Find the missing number from

the given responses in each of the following questions.

91.

92.

%& %&
49 100

@10  (b) 20 () 30 (d) 40

(@100  (b) 75 (©) 25 (d) 50

Thremmatology — Science of breeding domestic animals and plants
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93. 1218 30 16 32 40 36 18 27 | 97. (&) Feedback (b) Teach (c) Reteach
| (d) Plan (€) Replan
ep
| @d, b aec (b) a,d,b,e,c
; | (c)c,e b, d a (d) b,d,aec
@9 (b) 12 (c) 18 (d) 6 | 98. (a) Infancy (b) Childhood (c) Adulthood
| (d) Babyhood (€) Adolescence
94. \20160] 4 | (3 adb.ec (b) ac,eb,d
? 4 | (¢) ab,c,de (d) ad.eb,c
480 8 | 99. Please count the number of blocks in the given
% | 24 | figure and indicate :
I

(a) 860 (b) 1140  (c) 2880  (d) 3240

95. In the question given below the numbers given at |
the top follow a certain specific pattern. Study out |
the pattern and find out the missing number.

94|20
8|5/|12
716l 2 @9 (b) 5 (c) 6 (d) 8
100. Count the number of cubes, in the given figure.
(@) 2 (b) 4 (c) 6 (d)9

guestions, which one of the given responses would be a
meaningful order of the following?
96. (a) Palice (b) Punishment (c) Crime

(d) Judge (e) Judgement

@c,adeb (b) c,a b, d, e

(c)a b, dc e (e d c b a

I
I
I
I
I
I
Directions (96-98) : In each of the following I
I
I
I
I
| (@ 8 (b) 10 (c) 12 (d) 14

Threpsology — Science of nutrition
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Answerswith Explanation

(b) I—|.er.e,f|rstd|V|sor(SQ)|samult|pleofsecond| 7. () 1 N 1 N 1 N 1 N 1 N 1
divisor (18). 5x6 6x7 7x8 8x9 9x10 10x11
i.e 342 + 18 = 19

. . 1111111111 1 1
ReqUIred remainder Zg—g 6—7 7—5 §—§ 5—5 E—E
= Remainder on dividing 47 by 18 = 11

(b) Let the number be x.

According to the question,

1 1 11-5 6

5 11 55 55

X=2420= x—X=20 3 3+2

5 5 ° ote

2. 4(4+3) ;6

I & @ 1770 )% 3-2

5 2 6
:>X:20X5=25

4

(@) Let the number be x.
According to the question,

(X+ljx3 =21
2

1 21
S>X+=—=—=7
2 3

V5329 73
(b) Here, 12 - 5 = 7,
16 -9=7

10. (a) Average contribution of 9 students of the class
= Rs. x (let).

.. Required number
= (L.C.M. of 12 and 16) - 7

=48 -7 = 41 According to the question,
(d) We find LCM of 5, 6 and 8 7x50+ X + 50+ X + 90
5=5 9 =X
6=38x2 = 350 + 2 + 140 = OX
8=2 — OX — 2x = 490
=28 x3x5=8x15=120 _
. = 7x = 490
Required number = 120K + 3
. when K = 2, 120 x 2 + 3 = 243 90 oo
required no.
It is completely divisible by 9 11. (c) Average of five numbers
(b) HCF of 2,2 and 2 - 2x8+3x3
35 7 2+3
_HCFof 2,4and6 _ 2 :l6+9:§:5
LCM of 3, 5and 7 105 5 5

Tidology — Study of tides
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12. (c)

13. (b)

14. (c)

15. (b)

16. (b)

17. (b)

X +Y =%(2 x 5050) = 310100
Y +Z =3 (2 x 6250) = ¥12500
Z + X =3 (2 x 5200) = ¥10400
Adding all three,
2(X +Y + 2)
= (10100 + 12500 + 10400) = ¥ 33000
= X +Y + Z =%16500

X=X+ Y+2)-(Y+2)

= T(16500 — 12500) = ¥ 4000

= 200xi =2
100

18. (b) Suppose monthly income of the man is Rs. x.
Expenditure on food

= 40% of x =?2—5X

Remaining amount = x —2—5X = ?%X

2 4 . 1 3x X
Ax— =Bx— Expenditure on transport = =x— =3—
37775 P PO =375 =5
A_43 Remaining amount = =X _ X _ X
2242265 9 ot
B 5 2
ax55=Dbx 065

According to question %XZ_SX = 4500

a_065_ 65 13 -~ X = 4500 x 5 = ¥22,500

19. (d) Let C.P. beX1
C.P. of 3 articles = %3
= SP of P of 5 articles.

b 55 550 110
Let the required fraction be x.
According to the question,

1 35 (5-3)
27 7°9 Loss% =T><100
1 3
T 9727 7 63 150120
20. (b) S.P. of book =——=%180
1 9 1 100
=X=63"5 735 21. (a) Let the SP of 1 book = x

. SP of 25 books = 25x
According to the question,
25x — 2000 = 5x

Let the number be x. Then
= — 60% of x = 60
= X — 0.60x= 60

= 20x = 2000
= 0.4x = 60 2000
60 600 X = —20 =100
SX=— > X=——"
0.4 4

. SP of 1 book =100
X =150 22. (d) Single equivalent discount
. The number is 150

Let the number be Xx. :( 25x10

25+10-—— (% =325%
100

E><£><£_ 23. (b) (8 Single equivalent discount for 20% and
4 5 100 15%
= xx=xZ=148 :(20+15—20X15j%:32%
100
48x5%5 Single equivalent discount for 32% and 10%
:>x=—2=200 3910
3x - (32+10— j —38.8%
. 1% of 200 0

I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
1 I = 2 x 20 = 40%
a2 I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I

Tocology — Obstetrics; midwifery
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(b) Single equivalent discount for 25% and

12%

~[ 254122212
100

j:34%

Single equivalent discount for 34% and 8%
= (34+8— 34X8)%
100

=42 - 2.72 = 39.28%
Let Cost price = ¥100
Marked price = 120

120x 80

24. (a)

Selling price = =Y 96

.. Loss = %4 and loss per cent = 4%

29400x6x R
100

R_ 4200 :@:ZE%
294x6 21 21

25. (a) 4200=

SI1.x100

26. (b _—
() Timex Rate

Principa =
~ 1x100 _ 365x100
= = :

7><5
365

= %7300

Simpleinterest _ 1

2r. @ Principal 4

S1.x100

" Rate e —
Principal x Time

_ 1x100
4x5

ci.- pI(H%j _ I

3
= 5000 (1+£j —1}

— 50 Per annum

28. (b)

100

3
= 5000 (Ej -1
10

| 5000x 331
' 1000

R T
29. (b) c.|.=P[(1+mj _}

2
= 510=P 1+£ -1
200

= 510= P(g— )
64

=31655

_ 510x64

=P =1920

Sl - 1920x 2x 25
' 100x 2

=% 480

2500x 2x 4

30. (d) SI.=% =200

4 2
Cl. =3 2500 (l+—j -1
100
2
*25‘”“@) _lI
25

_7(676-625) o0
625

_z 2L o500 = 2204
625

.. The required difference
= C.l. - S.I. =%(204 - 200) = %4

31. (c) Men Workinghours
16 14
28 12

Days
!

. 28:161 - - .
. 12:14}" 12:x

= 28x12xx =16 x 14 x 12

16x14x12
X="—"""™>=

28x12

I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
| =8 days
I

Tonetics — Study of pronunciation
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32. (9

33. (9

34. (d)

35. (9

(A + B)’s 1 day’s work =%

1
A’s 1 day’s work )

11 3-2_ 1

1
.. B’s 1 day’s work “%5 9" 18

.. Required time = 18 days

Suppose a man can complete the work in x
days and that boys in y days.

According to question

%4_%:1

18

. (i) x 13

o (i) x 12

312 240
- =
X y

12

:>772=13y=72days

.. Boys aone can complete the work in 72
days
Part of the tank filled by both tapsin 5 minutes

=5 i+i
30 60

=5(Ej=5xi=

1
60 60 4

Remaining part =1—%=% that is filled by
second tap.

.. Time taken :%x 60 = 45 minutes

3
— of the cistern

Time taken to fill the 5

= 60 seconds
.. Time taken in filling % part

= 60X5><§ =40 seconds

37. (b)

38. (c)

39. (d)

I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
: 40. (d)
I

I

I

I

I

I

I

I

36. (@) Here, the diameter of the second pipe is twice

that of first pipe.
.. Volume of water emptied by the second
pipe will be 4 times to that of first pipe.

Hence, time taken will be %of the first pipe.

. Second pipe will empty the tank in

%x 40 =10 minutes

When both the pipes are open, the part of the
tank emptied in 1 minute

1.1 1+4 1
40 10 40 8

Hence, the tank will be emptied in 8 minutes.

Speed of train = 60 kmph

Time = 210 minutes

:@ hours or Z hours
60 2

Distance covered = 60><g =210 km

Time taken at 80 kmph :%:%l hours

5
= 2—
3 hours

Distance = Speed x Time = 60 km.

Time taken at 40 kmph :@:§ hours
0 2

Length of (train+ platform)
Time taken to cross

Speed of train =

~ ( 500+ 700
10

Speed of boat in till water

j feet/second = 120 feet/second

=% (Rate downstream + Rate upstream)

1
==(15+9
2( )

=%>< 24=12 kmph

Topology — Study of places and their natural features
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41. (b)

42. (b)

43. (c)

1
Rate downstream of boat = o kmph
2x60
_2x60 _ 8 kmph
15

Rate upstream of boat = 5 kmph
- Speed of boat in still water :% (Rate
downstream + Rate upstream)
1 13 1
== (8+5)=— kmph = 6= kmph
5 (8+5)="" kmph =6_ kmp
Let the speed of stream be x kmph

.. Rate upstream = g—x

Rate downstream = %+ X

Then,

= 3X=9-

N[O N|©
|
N | ©

= X = 9 =§=1.5 kmph

2x3 2
The ratio of the area of two similar triangles
is equal to the ratio of square of the

corresponding altitudes.

Ratio of atitudes = or5:6

oo

gl

44, (d) 3+ & = 5

. Base = 3 cm and
perpendicular = 4 cm
.. Area of the right angled triangle

=%>< base x height

:%x3x4:6 sg.cm.

45, (b) Let the sides of parallelogram be 5x and 4x.

Base x Height = Area of parallelogram
- Bx x 20 = 1000

_ 1000
 5x20
= Sides = 50 and 40 units
- 40 x h = 1000

~ 1000

=X 10

=h =25 units

46. (d) Let the sides be 3x, 4x and 5x respectively.

Here, (3x)? + (4x)? = (5x)2
Hence, the triangle is right angled.

%X3X><4X =216

= 6x? =216 = Xx?

_ 216 5
6
.'.x:\/%:G

Perimeter of triangle
= (3x + 4x + 5x) cm = 12x cm
=12x6=72cm

47. (@) Circumference of the circular wire = 2xr

=2x§x4z=264cm
= Perimeter of rectangle = 264 cm
Let the sides of rectangle be 6x and 5x cm.
.. 2(6x + 5x) = 264
= 2 x 11 x = 264
=>X=—=12
22
.. The smaller side
=5x =5 x 12 = 60 cm.

48. (d) Required percentage increase in area

= (x+y+ﬁj%
100

20><020]% _ 44%

=(20+20+

49. (c) Expression

. 3(2—\/5)—2(2+\@)
(2+\/§)(2—\/§)
2-4/3

Toponymics — Study of place-names
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_ 6-3/3-4-23 (58-59) -
- (2+\/§)(2_\/§)(2_5\/§) Member | Gender |Profession Relationship
P Femae |Lady Wife of S; Mother of Q;
Teacher Mother-in-law of R ;
_ 2-5J3 _ Grandmother of T and U.
2-5J3 Q Male |Doctor Son of Pand S ; Husband
50. (b) Let 275 = a of R ; Father of T and U
’ ' R Femae |Lawyer | Daughter-in-law of P and
and 225 =b S; Wife of Q ; Mother of
Tand U
a’-b’®
. Expression = ——— S Male |Salesman |Husband of P; Father of
a +ab+b Q; Grandfather of T and
U ; Father-in-law of R.
B (a— b)(32 +ab+ bz) T Not Engineer | Child of Q and R;
- 2 +ab+ b2 Given Grandchild of P and S
_ a : U Male |Manager |Son of Q and R;
=a-b=275-225=05 Grandson of P and S:
51. (d) Editor supervises magazine in the same way Brother of T

as director does in the case of drama and film

also.

52. (b) The foot of human being is analogus to the

hoof of cow.

53. (a) The ocean contains a large number of drops
of water. Similarly, several stars twinkle in

the sky.

54. (c) Doctor cures patientsin the hospital. Similarly,
priest offers prayer and worships god in the

temple.
21
55. (b) ==3
(b) ;
Similarly,
27 g2
-

56. (b) (7)*-7=49-7
Similarly,
(92-9=81-9
27
—=3

57. (b) 9
Similarly,
o737

9

I

I

I

I

I

I

I

I

I

I

I

I

I

I

I

I

I

I

| 58. (b) Married couples are : (Q and R) and (P and
| S).

| 59. (d) Pis a Lady Teacher

| 60. (b) Only daughter of woman’s mother means the
| woman herself.
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I

Therefore, the woman is wife of that man.

+=SX | —=+

X=>—=|+=+

Give expression
26 +74-4x5+2=7?
After changing the signs
?2=26x%x74+4-5+2
?7=481 -5+ 2

or, ? = 483 - 5 = |478

62. (@ |[—=+ |+=x

=42 X=>— | +=>=+
Option (a)
=72 25-15+5+4x16 =21

=>25+15+5x4-16=21
=>25+3x4-16=21
=>25+12-16=21

= 37-16 =21

Option (b)
25+11+4+10%x6=20
=>25+11+4x%x10-6=20

Toreutics — Study of artistic work in metal
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63.

64.

65.

66.

67.

68.

o

(b)

(b)
(b)

(b)

(b)

(b)

:>§+40—6¢ 20
11

Option (c)
25 x12-14+4+6 =16
= 25-12+ 14 x4+6=16

= 25—12+l4><§:16

= 25—12+%¢16

Option (d)
25-12+14 +2 x4 =15
= 25+12+14x2-4=15

= 25+$><2—4¢15

X=>+ | +=>+

— =X | T -

6x4-5+2+1=7
=>?=6+4x5+2-1
=>?=6+10-1=15

Except the number—pair 21 — 40, the second
number is twice of the first number.
Except 84, al other numbers are multiples of
13.

91 =13 x 7
26 =13 x 2
78 =13 x 6

But, 84 =13 x 6 + 6

Except 59, al other numbers are multiples of
3.

9 = 3 x 32

12=3 x4
48 = 3 x 16
But, 59 =3 x 20 -1
28=7x 4
43=7x6+1
50=7x7+1
36=7x5+1
10m
6m
20m

69.

70.

71.

72.

73.

74.

75.

(d)

(d)

(d)

(c)

(@)

(b)

(b)

From the diagram it is clear that Shankar
started his journey from North to South.

2 km

3 km

]

Now, Ramesh is facing South
E B Skm A

2 km

3 3
km km

DOkm ¢
Required distance = (9 + 5) km = 14 km

A 20 km

Khan ‘A Pran

10km LOffice| 10km

It is clear from the diagram that they are at
a distance of 20 km.

The day after tomorrow would be Friday.
Today is Wednesday.

The day before yesterday was Monday.
Today is Wednesday + 4 = Sunday

Two days after tomorrow

= Sunday + 3 = Wednesday

5 January 1965 = Tuesday

5 January 1966 = Wednesday

5 January 1967 = Thursday

5 January 1968 = Friday

5 January 1969 = Sunday

Since, 1968 is a Leap Year.

5 January 1970 = Monday

5 January 1971 = Tuesday

The given number series is based on the
following pattern:

w01
10km

138 + 23 = 161
161 + 24 = 185
185 + 25 = 210
210 + 26 = (236

Toxicology — Study of poisons
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76. (b) The given number series is based on the
following pattern :

Therefore, the word INITIAL cannot be
formed.

212222 P[ROJVINCI[ALIS M
12 + 8 = 20 =SAILOR
20 + 10 = 30 PROVI[N] CIAL] ISM
30 + 12 = 42 =>NAIL
42 + 14 = [56| PROVIIN| cI[AlLISI[M]
77. (d) There are two aternating series: = MAN
3+3=6 83. (d) There is only one ‘A’ in the given word.
6+3=9 Therefore, the word PARADE cannot be
9+3=12 formed.
+ =
e =17 D [E] PA Rl TM [ENT
= ENTER
17 + 6 = [2
D [EPARTIME[N] T
78. (b) 2160 432 108 =PARENT
| T T 7 D |[EPfA|RTME/ NT
+5 +4 +3 > TEMPER

84. (c) There is only one ‘T’ in the given word. So,
the word TABLET cannot be formed.

RO [TARY|BLUE[g = STARY
R[OT]ARYB[LU] E[§ = LOTUS
[R]| O[T]ARY [BLUE| S= BUTLER

85. (b) First Premise is Particular Affirmative (I-type).
Second Premise is Universal Affirmative (A-
type).

Some phones are watches.

-~

All watches are guns.

| + A = I-type of Conclusion

“Some phones are guns”.

Conclusion Il is Converse of this Conclusion.

79. @ M PRATJS

80. () 9 2 1 5 4 7

81. (c) W = 23 — Position Number in English

aphabet. _ ) : )

W | N 86. (b) Both the Premises are Particular Affirmative
(I-type). No Conclusion follows from the two

ol Parituclar Premises.

23+ 9 +14=46 Conclusion Il is Converse of the second

Therefore, Premise.

W A Y 87. (c) Some is a part of All. Therefore, conclusion

J L 0 | follows.

Since all students like excursion, therefore,
Conclusion Il also follows.

23+ 1+ 25 =49
82. (d) There is no ‘T’ letter in the given word.

Toxophily — Love of archery; Archery; Study of archery
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88. (b)

(89-90) :

89.
90.
91.

(@
(c)
(c)

92. (d)

93. (a)

94. (c)

95. (b)

Sitting arrangement

[El[B][A][c][D]

A D/F D/IF

S S

C is standing in the middle.
B is standing at the extreme left.
First figure

64 + /36 + /49

=>8+6+7=21
Second figure

V121 + /81 + /100
=11+9+10=30
First figure

42+ (3?=16+9=25
Second figure

(92 + (11)2 = 81 + 121 = 202
Third figure

Q2+ (7)?>=1+49 =50
First Figure

6 x2=12

6 x 3=18

6 x5=230

Second Figure
8x2=16

8x4=32

8 x5=140

Third Figure

9x4=36

9x2=18

9x3=27

The numbers in the given arrangement follow
the rule given below :

4x1=4
4x2=28
8x3=24
24 x 4 = 96
96 x 5 = 480
480 x 6 = (2880
2880 x 7 = 20160
First column
9-1=8,8-1=7
*

96. (a)
97. (9

|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
l 98. (a)
|

|

|

|

|

|

|

|

|

|

|

|

|

*

*

Second column
4+1=55+1
Third column
2+0=22+1

3+ 1 [4]

Meaningful order of the words :
(c) Crime
A
(a) Poalice
2
(d) Judge
A
(e) Judgement

2
(b) Punishment
Meaningful order of the words :
(d) Plan
A
(b) Teach
A
(a) Feedback
A
(e) Replan

2
(c) Reteach
Meaningful order of the words :
(@) Infancy

s

(d) Babyhood
s

(b) Childhood

0

(e) Adolescence

A
(c) Adulthood

6

31+ 2);

99. (c) Clearly, there are six blocks in the diagram.
100. (b) Six cubes are visible and four cubes are

invisible. Thus, there are 10 cubes.

Traumatology — Study of wounds and their effects




